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2011 s 2
2. 0 2 e ne e 2
2.0 3 s 2
2. LA e e 2
2 e n e rennenns 2

G 00 OSSPSR UR PRSPPI 3
3 e 4

AL e nre s 5
A e 6

500 OO PRPPRPRT 8
SLL 8
5.0.2 e —————— 11
S.L.3 e ——————————— 13
S.LA e ——————————— 16

S T PP U PSPPI 17
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(random field)

(2).
).

(random process)

HLP:rda-pdt
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2.1

2.11

vaue)

design technique)

2.1.2

2.1.3

2.1.4

2.2

(rated value)

MIL-HDBK-217

(derated

(safety factor

HLP:rda-pdt
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(1).
).
(€
(4).
5).
(6).
).
®).
9).
(10).

3.1

( ) MIL-HDBK-217

« )
( MIL-STD-454 18)

HLP:rda-pdt 3 2000/12/18
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(junction temperature)

MIL-HDBK-217 NPN

NPN 10% ( 160 °C 40 °C )

MIL-HDBK-338-2

3.2

HLP:rda-pdt 4 2000/12/18
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(1).
).
).
(4).

4.1

MIL-HDBK-5

HLP:rda-pdt
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4.2

5
(stress-strength interference, SSI)
R
R=Pr(C>L)=Pr(C- L>0)
C fe(c) Fe(c)
L fL(l) Fu()
R=Pr(C- L>0)=gfc(c) f (l) dedl
D
1
R=1- P
(D) 2
R= S;(q‘?é £ (1) fe(c) dc)dl
= 0y f()[t- Fe()]d
=1- 5, fL(1) Re()
HLP:rda-pdt 6 2000/12/18
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L
1
,D A
,C
/,
// Cc=L
>
,L
2
P =1-R
¥ |d
=&, 18,1 rcloch
= 3y L ()R (1ol
fe(c!)
R=Pr(C>L)= gfc (c1)dcdl
C>L
HLP:rda-pdt 7 2000/12/18
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P =

5.1

5.1.1

=

=

U=Y-X U

U

(72}
X
5
©

(72}
=<
S
©

Pr(CEL)= gfc (cl)ded
CEL

@
S

/_‘_3 DD @ D
3
3
(SEE NN
o
]
.|.K
N
X
N
#®

N
DED
7
><

<
l
Z
»
<
=

Q
o
D> P> D

my =My - My

Su :\/5Y2+Sx2

HLP:rda-pdt
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wn
C
[SHE e

g=—"v - Mx
/SY2+SX2

(reliability index) (sfety index)

R=1- F(-d)=F(d)

P =1-R=1- Pr(C>L)
=1- F(d)=F(-d)

__ (me/m)-1
Jlme/m )P uc? +u

Uc=Sc/Mc UL =s /m

HLP:rda-pdt 9
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d: rrb'rTL
\/502

+s|_2- 2rscs

[ 1] X ~ nor(30,000, 3,0002) kPa
Y ~ nor(4o,ooo, 4,0002) kPa

[ ] m, =40000 sy =4,000 m =30,000 sy =3000

d= my - My
,SY2+SX2
_40000- 30000

/40002 + 30002
=20

R=F(d)=F(2)=0977

[ 2]
X1 ~ N(35,000, 4,000%) kPa

X, ~ N(10,000, 15002 ) kPa
50000 kPa 0.999
( )

Xg=X1- X,

X1 X2

HLP:rda-pdt 10 2000/12/18
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5.1.2

my, =35000kPa, sy =4000kPa
my, =10000kPa, sy =1500 kPa

My, =My, - Mk,
= 35000 - 10000
= 25000 kPa

— 2 2
SXE— le '|'Sx2

= /40002 + 15007
= 4272 kPa

In x In x

E[X]= exp&+ 1520
e 2

V[X]= lexp (2m+ s 2) exp(s 2)- 1]

(L) (©

HLP:rda-pdt

1
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Z=C/L

InC InL
INnZ=InC- InL
Z

1 éleenz-m g U

f,(z)= apg—g Nz > g

SinzV2p & 28 Smz oY

nZ=u (u-myz)/sinz =x

d= Mpc - ML

HLP:rda-pdt 12 2000/12/18
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e 20
2 _ SL .~ _ 2
S inL —In§L+#23—In[1+u,_ ]

u
1 2 a m .
MnL zlnmL'_SlnL =In ,7u

» (D~

MD:D>

é g 20
2 p 2
snc” =g+ =S u=nfi+uc’
g g

é o =320
= + o ~
L TR

gnl 1+ UCZB

a
_ a
[In(1+ uCZ) + In(1+ uLZ)]J/Z

u Uc

2
a+u 20

In(1+uL2)»uL2 In(1+uC2)»uC2 T
1+UC 2

d:Inmc- Inm

[ 2 2
Uuc™+Uup

5.1.3

fx(x):(l x)" op(- 1x), n>0,1>0,x>0

HLP:rda-pdt 13
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Z=CL
Z
f2(2) = § lic(@)f (1) d
X" 1 menet (1 czHl )
_QG(m)G(n)Z I e d
_men)_ang
gm) &) (z+a)™"
a=l/lc
& 0_ ¥
R:PrgL>1%:QfZ(Z)dZ
_ Gn+m) Q¥aea 0n+l§e z " 11dz
gn) gm) % €z+a0 €z+ad a
_ G(n+m) 0 +1 m-1lee ao
"G am At T RE gl
n+m 1+ 1
_ ba/1+a (n’ m)
b(n,m)
__a _a(l_u)d_ad
=~ 7= z=- S du bajiea (nM)  b(n,m)
b(n,m):@lu”'l(l u)™* du
HLP:rda-pdt 14 2000/12/18
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ba/1+a(n'm) = (\éﬂ‘/haun-l(l_ u) ™14

(2. m=1,nt1l

— ba/1+a(n,l)
b(n,1)
_ Gn+D) ama n1

“qnd?

n .
_ea o _& 1, 0

du

n

“&rap & ctl Lo

b(1,m)
G(1+ m) a/l+a m- 1
= ~ 1- du
ayame Y
:1_$19m:1_a3|c 9m
E1+ao &l c+l Lo
[ ]
n=3 |, =10 m=2 |-.=025
[ ]
HLP:rda-pdt 15 2000/12/18
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a 40
n=3 m=2 a=l,/l ~=10025=40 -S> =
L/l e =10 1+a 1+40

5.14

fe(c)=1 cexp(- 1 cc), OE£c<¥

fL()=1_ exp(-1.1), 0EI<¥

R=¢ ()¢ el
:(gl (- 1 exp(- 1 etk
=g Lol ( ¢+ )dd

=L E(c+r el (1 e+l )

=m=1

Adc aL q |

__9c
dc * Q.

HLP:rda-pdt 16 2000/12/18
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5.2

fill) felg fic(l.c

[ 1 Q- N(4ooooo,150002)

sy ~N(1000502) R = 0.999
d

g=Sy-S

HLP:rda-pdt 17 2000/12/18
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M, = 400000N

Sg = 15000N
(mg sy)
_ 4mq 47 400000 _ 509296
ms = 2 2 2
p(my)”  314(my)”  (my)
. 2
S¢» %ﬂ?Sg sé +§E9 s3a
ﬂQgO ﬂd H
3 2
& 4 5 , & 8Q 5> U
:% T SQ +§ ﬁ: Sy 3
e PIT & S
T, = +00075m
Sy = 00075my _ 00025m,
® 8’ 4000000 U
% = (15000)% +g- ————= (ooozsmj)zﬂ
e pirg g a
(;:‘364756000 N 6484556UJ/ 19286
-€ g
e m og g
my, =1000
Ss, =90
R =0.999

d=F }R) =F *(0999) = 3291

12

Td =38d

HLP:rda-pdt
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1000. 509296

g :

4 -

My

HLP:rda-pdt
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1. Kapur, K.C. & Lamberson, L.R., Rdigbility in Enginesring Design,
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